Subject Code
A fava 418 - 21001
Economics
Que. Paper Series
usoryfRist sls (Arts)

Candidate's Roll No.

Supervisor's Signature

Instructions to Candidates / Giieariel 2j0n

(1) There are 50 questions in the Test Booklet.
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions.

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong. No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is
given separately to you. For example ;
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONON NO

The true answer is ""C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5)  Use blue/black inked ballpoint pen for
filling responses in the OMR Answer
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
material, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page.
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Do not open the Question
Boolklet until ask to do so.
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1 Costs incurred in the past that has no effect on future decision is called

(A) Marginal Cost (B) Sunk cost

(C) Fixed cost (D) Average cost

epasion adal W ¥ ¥l sl sl wR AS AR widl el d-
s8apil 2 8.

(A)  Aiid vl (B) 04 w3l
(C) R v (D) w1 v
2 Which of the following concept is most closely associated with alfred
Marshall?
(A) Marginal utility theory (B) Price mechanism under monopoly
(C) Modern theory of wage (D) Interest theory
[Aumid] sl e viesd Hida Wl qxdlsdl Astudd 87
(A)  fluid gl Rigid (B) Smuui cna ugli
(C) Adel 2uyMs Rsid (D) el Rigid

3 A long run analysis of production is called

(A) Law of decreasing returns (B) Law of variable proportion
(C) Law of increasing returns (D) Law of returns to scale
dieioiosl Geadtgdnl [xangd sday 8

(A) Hedl HAdR-L [Fun (B) [ waiw FHyn

(C)  atdl 3o+l Fan (D) se~ll uad-L [HyM

4 In price discrimination, a monopolist lower the price at the market where

there is .

(A) Higher price elasticity demand (B) Lower price elasticity demand
(C) Expensive factor price (D) Inelastic demand

Bad deenanl, Sorer A onul Bud Gl uud 3 ol 8,

(A)  miadl Gl yeuuladl (B) wiadl 20l yeuuladl

(©)  HiEl weBud (D) ed w-ilg widt

5 The first theorem of welfare economics states that
(A) All prices are equal in a competitive equilibrium
(B) A competitive equilibrium maximizes the supply of goods
(C) A competitive equilibrium is Pareto efficient
(D) A competitive equilibrium may be Pareto efficient
seuiaall udareil uay Wiy weud 8 3
(A)  eReISYSA AUdaMl slElL GIdl AR D
(B) <Rs1SYsd AL drgrl YaslA U 53 8
(C) sRafysd ardal WA sidan B
(D) elRsidysd uugal 12 s1dan &1 43 8
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In the IS-LM model, IS explains which market equilibrium?

(A) Financial market equilibrium - (B) Commodity market equilibrium
(C) Interstate market equilibrium (D) International market equilibrium
IS-LM 3Raxi IS sl ool addal a4xnd 87

(A) ~ususeR-l augen (B) ardoianr-dl wugal

(C)  didruoy s+l wugal (D)  idRly s+l augan

Which one of the following pair is NOT correctly matched?
(A) Equation of Exchange : Marshall

(B) Inflationary Gap : Keynes

(C) Cash Balance Theory : Pigou

(D) Accelerator-Multiplier : Hicks Analysis

AAniell 5§ Ad A=l A Ande 9.

(A) [y wdlsel - uda

(B) gouUw~ g - 35

(C)  Ass YRid-) Rigid - [ady

(D) auldad«t - oeis: [Ssu Radue

The quantity theory of money was first propounded by

(A) A. D. Ricardo (B) Davan Zatti
(C) C.D. Hume (D) D.J. Mill
Rt yRuRAl Rigld ey Al gL WA 5L U] el
(A) 3.4, Rl (B) a- H2dl

(C) Aq.4. & D) 4. % (e

The time preference theory of interest was developed by
(A) Wicksell (B) Bohm-Bawerk
(C) TIrving Fisher (D) J. M. Keynes
AHY, YAl we-l Rigid St gl ™AUE 8l ?

(A) RsAa (B) olsi-ods

(€©) SHa Bar (D) %.34.35y
Past Income hypothesis has been given by

(A) Keynes (B) Modigalia

(C) James-Duisenberry (D) Friedman
easia-{l suasl wRseu-l sl gzl 2unaml udl 87

(A) 35 (B) wElalxa

(C) FR-sypnadl (D) (33
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When will the international terms of trade be beneficial for both the countries
in a two country, two commodity model?

(A) If it lies between two country's internal rate of production

(B) If it lies beyond two country's internal rate of production

(C) It can lie on two country's internal rate of production

(D) It can lie between and beyond two country's internal rate of production
& 29, A drgril {RAM] vidRUY QUi AR 6l 2L MR SAIR S14EL51RS 8A?
(A) A A& 2idRs Bliernil €2 a2 2udg €y

(B) 2l d & 2udl widRs Gaie-i el ay €y

(C) A & 2urll 2idRS GeutesAl £ YR wdg &

(D) A & 2L 2idRs Beulgeril 82 4 27 el ay ol &S U3

Which is the highest decision-making body in IMF?

(A) Board of Governors (B) Executive councils
(C) Economic counsellors (D) Finance Department
IMFai G2dR [ely ddl dzal 58 87

(A) 8 s 21a-d (B) d&sydla s16-fla
(C) S5 s16-flard (D) st Ruied-2

Which one of the following pairs is correctly matched?

(A) MFA : Agricultural Free Trade

(B) UNCTAD : Free Trade Area

(C) IMF : Balance of Payments Difficulties

(D) MFN : Direct Foreign Investment

(Al 58 Al wl 87

(A) MFA : s %sd QuiR “(B) UNCTAD : 45d duiR [rdiR
(C) IMF : dgiaidl qai-ll 483l ~ (D) MFN : [aeell dcua 3dAsial

Dumping aims at flooding a foreign country with.
(A) High-priced commodities ‘

(B) Low-priced commodities

(C) Commodities with similar prices

(D) commodities with fluctuating, prices

aeel-l &g [z “ll o{R1dl sl 8.

(A) G Budall azgil (B) lla Badawll azgai

(C) vl Baudawoll axgil (D) G-zl Budaldl axgai
India's wage policy is based on

(A) of living (B) standard of living

(C) productivity (D) None of these

MRl Adt A uR 20HRa B,

(A) @a- v (B) ®a- Hizel

(C) Bculesdl (D) il A «adl
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The concept of Zero-Based-Budget (ZBB) was given by .

(A) R.A. Musgrave (B) JM. Keynes
(C) Peter A. Pyhrr (D) A. H. Hansen
Y AR el vuig TN S

(A)  R.2. Hydg B) %.¥M. 35
(C) Yl 3. flsr (D) 2.2, ¢

Budgetary deficit does NOT take into account.

(A) Revenue dificit (B) Capital budge deficit

(C) Balance of Payment deficit = (D) Interest payment on public debt
o2 wiel el Adl <l

(A)  dydl wua B) yd-axe v

(C) Auesil vig (D) &R 2al-l @uwsr-l ysaell

Which one of the following pairs is correctly matched?
(A) Fiscal deficit - GD.P.
(B) Primary deficit - Money supply

{(C) Monetary deficit- interest payments

(D) Budget deficit - Revenue expenditure and receipts on Revenue Account.
AlAxiell 585 Al Al &7

(A) sy vy - @ 4.4

(B) s vy - ARurdl yaé

(C)  ~ususly vy - eoser+l 3sasll

(D) &2 vy - 4yl vidid M8yell wal »A 2uas

Which economist was the first to introduce the concept of social accounting
in economics?

(A) Marshall (B) Simon Kuznet

(C) Pro. C. Mahalanobis (D) J. R. Hicks

el atnl AP el yglisl Rena-l Auan sai vl 59 edl ?
(A) Hula (B) ¥ g2

(©) . Al Hela-iBa D) %. 2. [Bsu

Loans of Public enterprises is a part of

(A) Capital expenditure

(B) Revenue expenditure

(C) Both revenue and capital expenditure

(D) None of the above

N8R AGRAA et 2 s 2L B )

A) yivl (B) udydl wai

(C) il A wdydl vy oiq (D) Guniafl A5u8L ]
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Which of the following accounts for Cost-Push Inflation?

(A) Increase in money supply (B) Increase in indirect taxation
(C) Increase in population (D) Increase in non-plan expenditure
wa IR goual w2 (Aunidl & uRein 87

(A) g yasil A (B) uda sAAUL AU

(C) axdl quRl (D) Bi-lougly vaui aurl

According to Keynes, transaction demand for money L can be stated as
(symbols have the usual meaning).

LSwurit s Moo, MM w2 eusl o LA agudl asy.
(A) L=K () B) L=I1(@
) L=Ky+I@® D)y L=Y-1

Inflation can be controlled by

(A) Better capacity utilization (B) Lowering bank rate

(C) Lowering budgetary deficit (D) An efficient public distribution
ol (Hulia sA ase®

(A) andd wd Ad Guda s (B)  Gserui waldl sdA

(C) %2 vuul Haldl s34 (D) 282 adella HuRs oi-udld

The existence of black money makes

(A) economy more competitive

(B) improve competition in economy

(C) effective income and wealth distribution
(D) Monetary policy less effective:

sl ARl AR orud 8

(A) ddaa ay iy

B) wtddaui sdsiSul yuA

(C) s 1A Aubidl vuss aduel

(D)  ~teudly Akl 20 2uRSd

The official exchange rate of Indian rupee is associated with.

(A) Pound Sterling (B) Dollar

(C) SDR (D) A basket of selected currencies
eiRdld 3l wifsd RRM e WA sddl 8.

(A) wB=s @A (B) AR

(C) SDR (D) uiedll wila AgRl-l dudl
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Economic development refers to

(A) Economic growth.

(B) Economic growth plus changes in output distribution and economics
structure.

(C) Improvement in the well-being of the urban population.

(D) Sustainable increases in Gross National Product.

Bs Bsin A eel wd 8.

(A) »uls aly

(B) »ulBls RS adl Gewer Rdrel 2 20Bls wasnyi 3812,

(©)  usdl axdl-l yrustdlui YuRl.

(D) &4 AU Guledl Add 4R,

The Harrod-Domar growth model suggests that growth is .

(A) Directly related to saving and inversely related to the capital - output
ratio.

(B) Directly related to the capita/output ratio and inversely related
to savings

(C) Indirectly related to savings and the capital/output ratio.

(D) Directly related to savings and the capital/output ratio.

83-42 9ls {¥a YA B 3 qly 3]

(A)  oad 1A A4 Aoifd 217 34 [ Geutert Aeildr A Aad Aoid

(B) ¥ [Geulet ARItR WA A1) Acifid i oAdell A Asiy

(©) wa {d sad x4 44 [ Geutest it Al Asiy

(D) oad 2 34 [ Gene-t Rl WA Al 2siy

Development process has been viewed as a ‘chain of disequilibrium by .

(A) Rosenstein Rodan (B) R.E. Baldwin

(C) H. Leibenstein (D) A.O. Harschman
Al WBaA sungald disa a3 Al 204 8

(A) Aareld A (B) 2R.9§. sueslin

(C) . Ati=eld- (D) . . ¢duq

The 'Big push' strategy of development was first advocated by
(A) Rosenstein Rodan (B) Simon Kuznets

(C) W. A Lewis (D) A.O. Harschman
2l 4ssl (el ya)’ Rsiy el Rxud A van 58 edl
(A) AR5 A3 (B) udu govien

(C) 3oy, 2. adla (D) . 2. edauq

As per 2021-22 human development report how many country studied?
2021-22-1 MiHa [As1 vdaid Rasl 32al AL 04 Sl 2 87
(A) 188 B) 191

© 177 (D) 187
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National Rural Develpment Institutue is situated at

(A) Hyderabad . (B) Shimla
(C) Patna (D) New Delhi
Aly i s A A13d 8.

(A) Sglole (B) [Rwat

(C) ve-u (D) -dl Redl

Who announced the introduction of National Food Security Act?

(A) Pranab Mukherjee (B) Manmohan Singh
(C) P. Chidambaram (D) Arun Jaitly

A vie e wEHAA aal ndad A 47
INERERCE) (B) u- HlgnRie

(C) M. Rey (D) wt3e %edl

According to Environmentalists how many percentage of geographical area
should be cover under forest in any country?

wulazgiaidlaiqil va Adust 2ani dt ololles Brdir- J2dl 251 GUoML %)
&lal Adn?

(A) 33% B) 50%

©) 12% (D) 23%

Who has decided millennium development goals?
(A) General Meeting of united Nations

(B) Parliament of India

(C) World Bank

(D) NITI Ayog

Aol (s aauis) S8 58l sul &7

(A)  [Aysd WUl am-a we

(B) oird-l iue

(C©) [~ ds

(D) (NITD) k& 2uxl

India's Wage policy is Based on

(A) Standard of living (B) Cost of living

(C) Industrial productivity (D) Agricultural productivity
oRdll Aax-llt  2uuRa 8.

(A) @A €Wl (B) =8ald wal

(C) »elPis Gauesdl (D) M Geuesdl
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India 2011 sex ratio as per 2011 census.
2011 -l qudl ate1adl ool euRdsl 201140 iy el €.

(A) 933 (B) 940
(©) 941 (D) 947

Economic Survey is Published by

(A) Ministry of Finance (B) NITI Aayog

(C) Government of India (D) Indian Statistical Institute
wWhsad  usfua 2 S,

(A) -uel M-uay (B) NITI 2u3iat

(C) URd uBWR (D) Uy Anisasly e

Office of AGMARK is located at/in?

(A) Mumbai (B) Delhi

(C) Faridabad (D) Udaipur
AGMARK- »lZFx su1 sudel &7

(A) ¥4ad B) [ked

(C©) sdlsitue (D) Geuyz

When was the land reform act passed?

oflel YAIRBLL S1AE) SUIY WRUR Ud)?

(A) 1950 (B) 1953
(C) 1952 (D) 1957

Unemployment which occurs when worker move from one job to another
job is known as

(A) seasonal unemployment

(B) frictional unemployment

(C) cyclical unemployment

(D) technological unempolyment

AU F U WA D AR SPLERL s ALsTAidl 6l D5l u M O A
ddld daviqidi g .

(A) Al Al
(B) adwysd Adawoudl
(C)  asly aAaaudl
(D) asdldl aRareusl
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